do/dm

Ratio to ATLAS

i [pb/rad]

[HEN
o
w

1074

[EEY

0.5

13000 GeV pp tt
[~ rrroyprrorrrorr o e e T T T 9
- . 15
Dijet mass (ATLAS for leptoquark search) >
B =
m ATLAS N
L+ Pythia 6.428 350 —n
—  _..a-- Pythia 6.428 351 m
~ - ¥-- Pythia 6.428 352 15
e A+ Pythia 6.428 353 1%
- -—G—%\Pythia 6.428 354 7 .02:
|+ /% Pythia 6.428 355 B
#.Pythia 6.428 356
Ythia 6.428 357
- Pythiaw6:428 358 48
. 13
B T
— 10
™
B R
o 4=
X
o s
N
(@]
S
I —
— 40
— -1 W0
_ 1o
o
— -1 O
n r | | | | | | | T | | R | [ I -
:l T T T T | T T T T | T T T T | T T T T |:
— —2
e N
| )f,&f = ]
i 1t
- —0.5
| " 1 1 " 1 1 " | " 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 1000 2000 3000 4000

m; [GeV]



	Contents
	Page 1


